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END TERM EXAMINATION

FIRST SEMESTER [BA(ECONOMICS)] JANUARY 2024

|Paper Code: BAECO-101 Sub: Principles of Microeconomics ]

Time: 3 Hours Maximum Marks: 60

Note: Attempt any five questions including Q.No.1 which is compulsory.

Q1 Write short notes on (any three) (4x3=12)
a) Backward bending supply curve of labour
b) Economies and diseconomies of scale in long run cost structure
C) Degrees of monopoly discrimination.

d) Shifts in supply curve.

Q2 ‘(ith the help of a schedule, explain three phases of production in short
run. In which stage does the producer produce and why? (8+4)
OR

Q3 Illustrate how market equilibrium of automobile market will be affected if

incomes of the consumers are rising on one hand and government raises
(12)

taxes on automobile on the other.

f deadweight loss through consumer and producer
duction of the commodity.
(8+4)

Q4 Explain the concept 0
surplus when government imposes tax on pro

[llustrate how varying elasticity of supply affect this scenario.
OR

Q5 'ﬁhat is the implication of ‘free entry and exit’ under perfect competition
in the short run? Use appropriate diagrams to answer the question. (12)

™N

Q6 What do you understand by substitution and income effect? Using
indifference curve theory, illustrate the break-up of these effects when
consumer consumes a normal good and a giffen good; and the price of

normal good falls. (4+8)

. OR
Q7 ’4hen price of Z’ good rises from rupees 25 per unit to rupees 30 per
unit, its quantity demanded falls from 500 units to 350 units.
a) Calculate elasticity of demand .of good Z by percentage method

and comment upon the nature of the good. (4)
Calculate elasticity of demand:of good Z by total outlay method.(4)

b)
c) Calculate cross-price elasticity of demand of good K" if its demand
changes from 120 units to 180 units due to change in price of
good Z. comment upon the relation of the two goods. (4)
Q8 xplain the role of price ceiling and price floor by taking case of:
a) Housing rent controls (6)
b) Minimum wage controls. (6)
OR
Q9 Explain and illustrate the three basic problems of an economy with the
(12)

help of production possibility frontier.
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END TERM EXAMINATION
Supposc that X and Y have a continuous joint P.d.f as given below: s

FIRST SEMESTER (BA(ECO)) JANUARY 2024 Q7

Mx&bmw Code: BAECO-103 Subject: Statistical Method-I
me: 3 Hours Maximum Marks: 60 (4+4+4=12)
Note: Attempt all question as directed. Internal choice is indicated. flx,y) = Mx xy 0<x<1,0<y< J |
: 0, otherwise L
Q1 Write Short note on an three: = . : _..
i) Correlation and Wo<mdmboo e mw Mwn nxgo Muwa@mﬁ : .m.m..muo», X and ¥. w |
¥ e X and Y independent: B
5 Measures of Central Tendency and Measure of Dispersion (3) Find P(X+Y<1) “~
i) ~ Skewness and Kurtosis b
jv)  Fisher’s Ideal Index Number : Om\han X be the discrete random variable having P.m.f. ¥
f§
02 (a) If A, G, H is the Arithmetic Mean, Geometric Mean and Harmonic Mean (4+4+4=12)
wm two numbers x and y respectively, then prove the following: (8) |
2). GE= A X 0 1 2 3 4 5 6 7
i1). A2Gz2H PX=x) {0 k 2k 2k 3k k2 | 2k2 Tk2+k | N
(b) If ES. and GM of roots of a quadratic equation are 10 and 8 respectively, | j |
obtain the relevant quadratic equation. (4)
J ¥ Determine the constant k.
OR g | i Find P(X<6) and What will be P(X2€)
Q3 * Calculate (4x3=12) | ii. Obtain P (X>2 | X<95) |
(i) Standard Deviation g
(i1) Karl Pearson coefficient of Skewness | OR @
(1ii) Coefficient of Variation L
: Q9 The P.m.f f(x) of a random variable X is zero except at the point x=0,1,2.
erv &
Frequency | 3. 61 732 | 153 [140 |51 . |2 (4+4+4=12)
i Determine the value of c w
Q4  Supposc a certain disease has an incidence rate of 0.1% (that is, it afflicts i MNMM %@ Hunodmwnwwm.p Hummwvw&_.mw”ww 2 M.
0.1% of the population). A test has been devised to detect this disease. 1he . ¢ expecta v ~ |
test does not produce false negatives (that is, anyone who Jmm the disease |
will test positive for it), but the false positive rate is 5% (that is, about 5% of |
people who take the test will test positive, even though they do not have the | _H
disease). Suppose a randomly selected person takes the test .mba tests |
positive. What is the probability that this person actually has the &mnmmwwnv _w_
OR \
Q5 There are two bags A and B. Bag A contains “n” white and “2” Emow balls ,_ 4 o
and B contain “2” white and “n” black balls . One of the two bags is selected |
at random and two balls are drawn from it without anvﬂmoaaobﬁ. If both the |
balls drawn are white and the probability that the bag A was used .8 ..&.mi |
the balls is m _Find the value of “n? L= (12) _
i . .+ 4fas given below:. .
Q6 Suppose that X and Y have a continuous joint p.d.1as & (4+4+4=12)
3,2 <2,0<y<1 . |
y .O SX=4,V= s w |
= {2 w
fe ) A 0, otherwise |
(1) Find the marginal P.d.f.’s of Xand Y vaAy Eeo\ e &
(2) Are X and Y independent? | AN

S F
* Y > w.w independent? o

i Ave the Event {X < 1} and
P.7T.0.
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END TERM EXAMINATION

FIRST SEMESTER [BA(ECONOMICS)] JANUARY 2024

|Paper Code: BAECO-105 ~________Sub: Mathematics for Economics-1 |
Time: 3 Hours i 5 ' , Maximum Marks: 60
l Note: Attempt any five questions including Q.No.1 which is c;ompulsoa. I

'61' Attempt any four parts: ' (4x3=12)
i) The population of a country was 80 crores in 1993. Find the
population in 1997 assuming that the annual rate of growth is

2.9% per annum. -
11) Find the equation of the line through (-2, 3) with slope -4. Then
find the point at which this line intersects the X-axis.
iii)  Determine whether the following matrix is non singular:

A=1 <2 3
RS BB
-5 7

iV) Find hm, oo A1 Xz +byx+¢Cy
> Sond ol bl ol
a X +byx+¢;
v) For what value(s) of x is the product of the following vectors equal
to seven?
A= X ' B= 2
X-5 X
3 3x

Q2 A firm faces the following demand function for its output: (4+4+4=12)
sl X = 12-p for0<p<8 |

20-2p for8<p<10
0 forp210

i) Graph this demand function with 'p on ,veftical._,ast[ and x on
horizontal axis. For what value of output does the demand curve

" has a kink?
Express the firm’s revenue as a function of output and graph this

function. Is it continuous? Fu .
iij) ~ What is the firm’s marginal revenue function? Graph this function.

happens when x > 07

ii) The demand function for a good su
x=(1000-p3) /p? (0<ps 10)
Find the inverse demand func
marginal revenue.




o T
<«

Q3

4 ' B O”
\Sz\a the equilibrium values

. - - - i -
. > - a - \ . - ; - - > <
- « v . . .l.-l\ = . -l oL » .
o - -

)  Let f be defined for all x by f{x) = x3 + (3/2) x2 - 6x +10. (8+4=12)

a) Find f ¢ (x) and f “ (x).

b) Find the stationary points of f and the intervals where f is
Increasing.

W Find the inflection points of f and the intervals of concavity /

convexity.
)  Find the truth value of (~P - Q) (S 2 R) if it is known that P, Q,

R are true and S is false.
OR

i) In a Qmmm o_q. 60 students, 45 students like music, S0 students like
dancing, S like neither. Find the number of students in the class

5 who like both music and dancing.
ii) Find the domain of the following function:

y=&x+1)172+1 / (x-1)1/2
1ii) H.bn f(xX) =(ax + b) / (cx - a), where a, b and ¢ are constants and

¢ # 0. Assuming that x # a / ¢, show that

zmx....c\nxlmvnx

ax+by+cz=0

bx+cy+az=0

CX+ay+bz=0

has a nontrivia] solution if and only if a3 + b3 + ¢3 _ 3abc =0

€Conomic model:
Real Sector: (12)

Mg = M, + mY - hr .
Ms=§ (constant)
Where v, ¢, I, r, My

Sﬁowmm.ﬂ.. demand for money and

//.I
[-3-]

@&5& the eigenvalues and eigenvectors of the following:

A= 2 1 -1
0. 3-: 1
2 0 -2
OR stries are

indu
Suppose the inter- industry flows of the product of two In peipamin=

Consumer Industry | Domestic Gross Output
X Y

(6+6=12)

lven as under:
Producer Industry

Y 20 10 30 - L b

e —————

e —————

Determine the technology matrix and compute the equilibrium levels of
output of the two products when domestic demand vector is { 80

40
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FIRST SEMESTER [B.A (Economics) (HONS.)] JANUARY 2024

Paper Code: BAECO-107

Exam Roll ZQNON~JJN_.QNW

Subject: Business English-I

Time: 3 Hours

Maximum Marks: 60

Note: Attempt all questions as directed. Internal choice is indicated.

Ql

Q2

Q3

Write short notes. Attempt all parts: (4x3=12)

3\%9.5& and Informal types of Communication
OR
Advantage of Written over Oral Communication

(b) Gender sensitive Communication
OR
Role of Feedback in Communication

(c) Overcoming stage fear
OR
eading between the lines
E%m.cn various types of Non-verbal Communication.

OR
Explain Skimming, Scanning and Intensive levels of reading.

(12)

Write a paragraph on one of the following: (12)

Economic Growth and Social Welfare

OR
Economics and Globalisation

Q4 \ﬁmﬁ a letter to the Editor of Hindustan i N
(12)

empowerment of women.

Write an email to your frie
financial fraud these days. A

(7)

Read the followin paragraph and answer the questions:
o = _cut conceptions with regard to the demand

Traditional theory has clear .
curve confronting & particular source of output in two cases, those of perfect
A . dividual source of output

any amount 0

itself. Variation in - :
: . ice. The starting poin

not have an mvﬁnaﬂmgo effect on its price startl! ¢ ;

- ition i roposition that :ndividual sources of outpu

imperfect competition 18 the propo 4 curve. With

are very frequently confronte : .
the .&M%S, %Mm prémise many interesting oosmucmuwnuﬂ
aradoxes resolved. But first 1t may be as ed- :
MMMW nwgmmwaav The possibility of a particular mocnow of MMWM_M ﬂwwm
ooaw.osnmacwm downward sloping demand curve has y

: . in the case of absolute monopoly.
Rnomuzm.na by economic c._.aoQ. namey, = on is far more widespread

henomen :
that the p . .4 and the chief basis of this

aim 1S .
cl ctive BQEOQ may give to

which the indu
in fa
phenomenon occurs SO w.nnmcnﬁcw ily be fitted.

retical structure i
Ehe P.T.O.

iR 5

[-2-]

Answer the questions in the context of the passage.

1. Give a suitable title to the passage. (1)
n. What are the attributes of ‘perfect competition’? (2)
3. Which of the following are not implied in the passage? (2)

(i) Absolute monopoly leads to a perfect competition.
(ii) A source of output may be confronted with a demand curve.

(iii) Sources of output confronted with a downward slopping demand

curve, is seen as imperfect competition.
(iv) Competition essentially leads to market reforms.
4. ldentify the word in the passages which is a synonym of “often and

usually”. (1)

5. Identify the word in the passages which is an antonym of “relative and
provisional”. (1)
_visual aids in a business presentation. (S)

(b) Explain the role of audio

Correct the sentences if required. Otherwise write ‘No change’.

1. We use to visit Kartavya Path daily now.
2. People suffered enormous during the economic slump.

3. Can you tell what is your name.
4. The course would familiarized the students with listening skills.
5

. We should do our work ourselves.

Q.u../o\»x

\Sile o2




